L3(4).23 (mod 7)
blocks | defect matrix blocks defect matrix
G 1 1 7X6 20 = 18x%
2 0 351 = X3,0,¥3,0 21 = 19x%
3 0 352 = X3,1,¥3,1
4 0 701 = X441, Par 45.G : 22 1 5x3
5 0 631 = X8,0, 7,0 23 0 561 = X26+, P20+
6 0 632 = x8,1,¥7,1 24 0 562 = Xo7+, P21+
7 0 633 = X9,0, 8,0
8 0 6314 = Xo9,1,¥s,1 3.G: 25 1 5x3
: 26 0 421 = X35+, P21+
2.G : 9 1 7% 6 27 0 1261 = X38+, P28+
10 0 281 = X13,0, 11,0 28 0 1262 = x39+, P20+
11 0 282 = X13,1,P11,1 29 0 1681 = x40+, P30+
12 0 283 = X14,0, 12,0
13 0 | 284 = X141, 121 6.G: 30 1 5x3
14 0 702 = X17,0, P14,0 31 0 841 = Xaz+ P33+
15 0 | 703=xX17.1,914.1 32 0 84y = Xaa+, P34+
41.GZ 16 1 7% 6 121.G: 33 1 5% 3
17 = 16% 34 =33%7
13 8 gg; _ ii? 21:? 120.G - 35 1 5 3
’ ’ 36 1 5 x3
37 0 1682 = X58+, Pa2+
38 0 1683 = X58+5+, L4245+
Block 1: | p10 1,1 ©20 P21 ¥60 ¥6,1
Ii=x10 1 : ¥0 = h
la =x11 1 . prio= L
201 = XQ;() . 1 1 . <'02’O = 191
20, =y21| 1 T P21 = 1%
901 = X6+ . 1 1 (‘0670 = 451
641 = X10,0 1 . 1 . ¥Y6,1 = 452
642 = 10,1 1 1




Block 9: | w90 ¥91 ®100 ®101 Y130 131
203 = X114 1 1 ) . ) . woo = 104
321 i X15,0 1 . 1 . ) ) w91 = 109
642 - X15,1 . 1 . 1 . ) Y100 = 2061
643 - X16,0 . . . . 1 ) p10,1 = 262
904 - X16,1 . . . . ) 1 Y130 = 64
2 = X18,0 . . . 1 1 . p131 = 049
903 = X18,1 . . 1 . . 1
Blocks 16, 17: | w150 151 ®16,0 ©16,1 $18,0 ©18,1
81 = X19,0 1 ) P50 =
22 = X19,1 1 . Y151 =
85 i X20,0 1 . ©Y16,0 =
646 : X20,1 1 . Y16,1 =
5 = X22,0 1 . ©Y18,0 =
646 = Xx22,1 . . . . . 1 p18,1 =
1601 = x23+ 1 1 1 1 1 1
BlOCk 22: ©194+ ©22+ P23+
401 = X25+ 1 . . ()019_"_ — 40
721 = o8+ . 1 ) A 721
1281 = xa294 1 . 1 T 881
1601 = x30+ . 1 1 !
1602 = x31+ . 1 1
BlOCk 25: Y24+ Y54+ P26+
S0r=xsy | Lo pny = 30
302 = Xss+ : 1 : Ya5+ = 30;
303 = x34+ . . 1 06y = 30
904 = Xx36+ 1 1 1 ¥
905 = x37+ 1 1 1




Block 30: | p311+ @324+ @354
121 = Xa1+ 1 : 314 =
721 = X42+ . 1 . P32+ =
120; = xa54 | 1 1 oot =
1202 = X46+ 1 . 1
1801 = X417+ 1 1
Block 33: | @361 @374 @38+
481 = Xas+ 1 P36+ =
485 = Xao+ 1 : Y37+ =
961 = X50+ 1 . ©384 =
963 = x51+ 1
2401 = X524+ 1 1 1
Block 35: | @391 Qa0 a1+
723 = X53+ 1 . T
961 = Xsa+ 1 Pa0+ =
963 = X55+ 1 1 . Y14+ =
1203 = x56+ 1 1
1206 = x57+ 1 1
Block 36: | ©39:x7+  Pa0x5+ Palexr+
724 = X53x5+ . 1 P39xxT+
962 = X5ax414 1 1 . L4045+
964 = X55%41+ . 1 P41axT+
1204 = X56+20+ 1 1
1205 = X56+43+ 1 1
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